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RC = 42000.00  L = 63.00  RC = -4000.00  L = 14.00  

RAMPE

L = 4.36 m

P = 0.70  %

RC = 23290.00  L = 93.16  

RAMPE

L = 7.25 m

P = 0.35  %

RAMPE  L = 28.27 m  P = 0.75  %
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ARC

R = 35.89 m

L = 4.35 m

ARC  R = 7956.26 m  L = 17.26 m ARC  R = 23261.71 m  L = 50.45 m DROITE  L = 174.51 m  ARC  R = 6374.73 m  L = 48.01 m ARC  R = 1001.06 m  L = 33.36 m

ARC

R = 25.97 m

L = 6.47 m

ARC

R = 13.35 m

L = 6.35 m

DROITE

L = 7.77 m
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RC = 625.00  L = 33.68 RC = -1500.00  L = 57.61 

PENTE  L = 15.54 m

L = 8.95 m

RAMPE

P = 4.50  %

PENTE  L = 22.72 m  P = 0.55  %

-
0
.
0
3

-
0
.
0
5

-
0
.
2
3

-
0
.
2
8

0
.
2
1

-
0
.
1
0

1
.
6
1

1
.
8
7

2
.
7
0

3
.
4
3

3
.
8
9

4
.
0
8

P = -1.00  %
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3.50m 3.25m 3.50m 1.40mlargeur variable

voie 2 sortante

Exupery

voie 1 sortante

Exupery

voie 1 entrante

Exupery

RD 6207 - Mandelieu la Napoule

COUPE TYPE SOUS OUVRAGE A8

Echelle 1/50
OUEST EST

BBSG 0/10 (reprofilage 6cm)
accrochage

CHAUSSEE

RD 6207 - Mandelieu la Napoule

COUPE TYPE SUR SECTION COURANTE

Echelle 1/100

3,50m 1,40m

voie 2 entrante

Exupery

voie 1 entrante

Exupery

trottoir

3,25m

EST

2,00m

terre plein

central

végétalisé

BBSG 0/10 (reprofilage 6cm)
accrochage

CHAUSSEE

BBSG 0/10 (6cm)
accrochage

GB3 0/14 (8cm)
accrochage

GB3 0/14 (8cm)
imprégnation

  GNT 0/31.5 (réglage 10cm)
                GRAVE 0/80 (60cm)

geotextile

CHAUSSEE

3,25m3,50m

voie 2 sortante

Exupery

voie 1 sortante

Exupery

1,50m1,50m1,50mmini 1,60m

piste cyclable

bidirectionnelle

haie arbustive

separative

BBSG 0/6 (5cm)
impregnation

GNT 0/3,15 (35cm)
geotextile

PISTE CYCLABLE

talus

enherbé

fossé

enherbé

1,50m

OUEST

chasse

roues

1/10

1/10


